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1 f\/—:\‘ 0.748 48867. 906 137825. 859 6. 1054
2 HH g 0. 832 223904. 578 1794015. 625 91. 9049
3 1. 415 2534. 258 13908. 962 0. 0000
4 & Ak 2.707 5046. 049 41692. 750 1. 7656
5 5.990 1606. 429 59762. 250 0.0000
6 H¥E 11.073 208. 208 7872. 200 0.2240
7 13.623 25.579 559. 900 0. 0000
8 14. 790 21.947 561. 100 0. 0000
E{H‘ 282214. 954 2056198. 646 100. 000
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A#y. 2025.6.2 g, 20250602104554
Hor B HoyEE (%) Hor B HaraE (%)
H5|Ha 0.000 2T 45| Trans-2-C,Hg 0.000
FA 42| CH, 91.905 Jfi2 T 45| Cis-2-C,Hyg 0.000
25| CH, 0.000 13T —#|1,3-C,Hq 0.000
Z.4|CoHg 0.000 2 iz 1-CsHyy 0.000
74z CsHs 0.224 1F gz |n-CsHy, 0.000
7| CsHe 0.000 — & Ak CO 0.000
5T 4|i-CiHyo 0.000 — &4 CO, 1.766
I T4 [n-CiHyo 0.000 4|02 0.000
IE5 T 4| -CaHs 0.000 w5 N 6.105
#31/100.000
#4% (0°C, 101.kPa)
A= 36.930 [MJ/m’ BRKE$=35.78
1Rl = 33.206 |MJ/m’ A8/ 0.5995
BB A = 47.695 [MJ/m® W= 0.775 |kg/m®
IS 4 5 = 42.886 [MJ/m’ TP ICo,= 10.82
520Y B R AEEAE= AARIEIERS=
H5%E (15C, 101.kPa)
Bl = 34.9375 [MJ/m’ BRpe#=35.79
fE#=| 314591 MJ/m’ HIXH B [=]0.5994
B AVEAE %= 45.12 [MJ/m’ B = 0.775 |kg/m®
TS 4 5 Hi= 40.63 [MJ/m’ FRAHICo,= 10.82
520Y L BURAVE 4 A = ARG IE R $=
0°C, 101.kPa 15°C, 101.kPa
R Hufl= 155 |keal/m’ Eidyl 147 |keal/m’
I Hfli= 139 |keal/m’ EavE 132 keal/m’
R A S= 200 |kcal/m’ B AV % 190 kcal/m®
I 4 e %= 180 |kcal/m’ Eaens  1m keal/m’
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1 2R 0. 748 47611. 941 133388. 438 5. 9582
2 F e 0. 832 224866. 141 1809913. 125 93. 4944
3 1.415 3263. 578 18131. 369 0. 0000
4 ZE AR 2.748 1626. 578 12817. 400 0.5473
5 6. 007 1614. 383 56978. 301 0. 0000
6 11.273 61. 552 1776. 700 0. 0000
7 12. 207 24.787 753. 300 0. 0000
8 13. 307 15. 565 564. 300 0. 0000
Mt 279084. 526 2034322. 933 100. 000
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H 3. 2025.6.2 gae.  20250602110244
H o L FR HOEE (%) H o 2R HayaE (%)
5.5 |Ha 0.000 27T 4| Trans-2-C,Hy 0.000
FA 42| CH, 93.494 JiFi2 T 4| Cis-2-C,Hg 0.000
Z2.4%|C2Hy 0.000 1,37 —#%|1,3-C4Hs 0.000
z.42|CHe 0.000 S g |i-CsHyp 0.000
Fikz| CsHs 0.000 IF 4z n-CsHy, 0.000
7itas| CsHe 0.000 — & 45| CO 0.000
8T ki-CHy, 0.000 — 4z CO, 0.547
ETh[n-CiHo 0.000 #<|02 0.000
IF 5 T #5|1-C4Hs 0.000 w5|N2 5.958
% 11+(100.000
4% (0°C, 101.kPa)
B M= 37.337 |MJ/m° MR paH=(36.68
(& = 33.568 [MJ/m’ FXE B RE=]0.5848
R A M= 48.824 (MJ/m° W= 0.756 |kg/m®
TR 4 He= 43.895 |MJ/m’ T KCo,= 10.98
520Y LR AVE 2 A %= RAEIERS=
4% (15C, 101. kPa)
B = 35.3238 |MJ/m® PR $4=136.68
fEff=|  31.8027 MJ/m’ A3 RE=(0.5847
BB A 1 = 46.19 [MJ/m® B = 0.756 |kg/m’
TR B 3= 41.59 |MJ/m’ TR P HICOo,= 10.98
520Y LR AVE 46 (1 8= RAFEIER$=
0C, 101kPa 15C, 101.kPa
Bl = 157 |keal/m’ g 148 [keal/m’
fE#ufti= 141 |keal/m’ EhvEl 134 |keal/m®
R RE A A B = 205 |kcal/m’ R 194 keal/m®
fik At A 5= 184 |keal/m’ fERdEseEs] 175 kealim®
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A 1] (min)
ST RE
I = 2 374 £ B8 i 1) 2322 e T AR 58
1 BR 0.748 56707. 453 157058. 828 6.9201
2 FA 0. 840 223443, 172 1785439. 625 90. 9746
3 1. 423 2070. 078 11322. 360 0. 0000
4 AR 2.715 5328. 488 44936. 602 1.8928
5 6. 023 1657. 784 60607. 000 0. 0000
6 Ak 11.082 243. 385 7510. 100 0.2126
7 12.182 5.909 112. 000 0. 0000
8 13.948 32. 000 1142. 500 0. 0000
9 14. 748 6. 529 122. 900 0. 0000
B 289494, 798 2068251. 915 100. 000
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A, 202562 e, B20250602111919
Hor 2R HEyEE (%) Ho 2R HrEE (%)
55|Ha 0.000 2T 45| Trans-2-C,Hg 0.000
FA 4z CH, 90.975 Jifi2 T 4| Cis-2-C,Hy 0.000
Z.4%(CoHy 0.000 1,37 = %(1,3-C4H; 0.000
Z.42|CHe 0.000 B gz |1-CsHy 0.000
7 k5| CsHs 0.213 1F R k| n-CsHy, 0.000
%% CsHe 0.000 — &4k B[ CO 0.000
8T 4z/i-CiHyo 0.000 — &5 CO; 1.893
IF T 4z|n-CsHio 0.000 4|0, 0.000
i 5T | 1-CaHg 0.000 w= N 6.920
&31+100.000
4% (0°C, 101.kPa)
B = 36.547 |MJ/m’ Wi H=35.28
1 Bl = 32.861 |MJ/m’ HIxEE=]0.6040
BB A M= 47.025 |MJ/m® B = 0.781 |kg/m’
IR 4 1 B= 42.283 |MJ/m’ FRSFHCO,= 10.71
520Y R AR AVE 4 A H= P REIE R E=
4> (15C, 101. kPa)
B 34.5751 [MJ/m’ BRia$4=|35.29
fEff=| 311327 |MJ/m’ A3 B ={0.6039
B 4 1 M= 44.49 |MJ/m’ B = 0.781 |kg/m’
G B 4 1 B 40.06 [MJ/m’ FHKFHICO,= 10.71
B20YHBEAEE A H= RSB IE R =
0C, 101.kPa 15C, 101.kPa
Rif= 153 |kcal/m’ iyl 145 keal/m’
IR E= 138 |keal/m’ w131 keal/m’
EREE A Y= 198 |kcal/m’ B RE A 3 187 kcal/m’
AR 4 4 3= 178 |keal/m’ EaEEas 168 |keal/m’
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1 AR 0. 748 23410. 063 60693. 754 2.5949
2 B 0. 832 237209. 219 1967476. 125 97. 2759
3 ZE AR 2.748 409. 614 3161. 750 0.1292
4 6.198 580. 351 17936. 400 0.0000
B 261609. 247 2049268. 029 100. 000
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oEE: £ B TIRR
B,  2025.6.2 YR, B20250602113529
H o 2K HAEE (%) H 4 L FR HREE (%)
g5 |H 0.000 27T 45| Trans-2-C,Hy 0.000
Fi 4z CH, 97.276 JiFi2 T ¥ |Cis-2-C,Hy 0.000
2.9%|C2Hy 0.000 1,37 —#(1,3-C;Hy 0.000
Z.1z|CoHe 0.000 S rkiz|i-CsHp 0.000
P4z CsHs 0.000 TE i 4 0-CsHy, 0.000
47| CsHe 0.000 s 4naE|CO 0.000
5T 4i-CiHy 0.000 — &4k CO 0.129
1F T z[n-CaHyo 0.000 45702 0.000
iF 5 T 4| 1-CoHs 0.000 5N 2.595
#3+100.000
#HF4%E (0°C, 101.kPa)
R = 38.848 [MJ/m’ PRk $=|38.76
AR 34.926 |MJ/m’ AR B E=0.5669
BBl A = 51.596 |[MJ/m> = 0.733 [kg/m’
IR 4 3= 46.387 |MJ/m’ FHS P HCO,= 11.42
520Y B A4 1 B RS R R M=
H4E (15°C, 101. kPa)
B HA= 36.7525 [MJ/m° PR 3=38 76
fE#f=  33.0890 [MJ/m’® MR ={0.5668
B R A e F = 48.81 (MJ/m° = 0.733 |kg/m’
IR 4 1 %= 43.95 |MJ/m’ FHS P HCO,= 11.42
520Y LB AVE 2 B H= AR EIER =
0°C, 101.kPa 15C, 101.kPa
BpuE= 163 |kcal/m’ EadE 154 [keal/m’
&A= 147 |kcal/m’ w139 |keal/m®
BAEEAY= 217 |kcal/m’ Bl A 5 205 kcal/m’
IERE 4 5 B= 195 |kcal/m’ fEREeEs] 185 |keal/m’
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ST RE
&5 44 £ B8 i i) 2321 g T X 58
1 AR 0.748 17728. 605 43916. 531 1.8901
2 B % 0.832 232947. 750 1922373. 125 95. 6783
3 1. 415 4759. 818 26819. 357 0.0000
4 ZE Ak 2.715 6059. 067 51380. 500 2.1140
5 6. 082 1121. 279 36159. 949 0. 0000
6 ke 11. 065 345. 615 11488. 800 0.3176
7 12. 982 22.333 557. 000 0. 0000
8 14. 115 31.083 1122. 766 0. 0000
9 14. 548 28.125 605. 033 0. 0000
Bt 263043. 676 2094423. 062 100. 000
I' ) —
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SRS
F#. 2025.6.4 g2, B20250604161405
i e HEEE (%) H o B HoraE (%)
gH55H 0.000 2T #%| Trans-2-C,Hg 0.000
FA 42| CH, 95.678 Jifi2 T 45| Cis-2-C H 0.000
Z.4%|CaHy 0.000 1,37 —#5(1,3-CsHy 0.000
Z.%z| CoHs 0.000 8k kz|i-CsHyp 0.000
7 4z|CsHs 0.318 1 ez [n-CsHy, 0.000
17| CsHe 0.000 — & | CO 0.000
=T 4i-CoHyo 0.000 — & ki CO; 2.114
1F T z(n-CiHyo 0.000 %5/0: 0.000
E5 T 4|1-CiHs 0.000 w5 N2 1.890
#3+100.000
4% (0°C, 101.kPa)
M= 38.532 [MJ/m’ R h=37.73
Y 34.648 |MJ/m’ A% 85 B ={0.5865
BRI A %= 50.314 |MJ/m’ = 0.758 |kg/m’
IR AVE AL 5 H= 45.243 [MJ/m’ FHESHHCo,= 11.28
520Y LB R A = ASEIER S =
2 (15T, 101. kPa)
B = 36.4527 [MJ/m’ BRI H=(37.73
(& H = 32.8251 |MI/m® Faxt s pE=0.5863
R HVE A = 47.60 |MJ/m’ W= 0.758 |ke/m’
TV ASE 42.86 [MJ/m’ T HCOo,= 11.28
520Y W BURAE A A= ASEIE R Y=
0°C, 101.kPa 15°C, 101kPa
o AE= 162 |kcal/m’ Bl 153 kecal/m®
I fti= 146 |kcal/m’ w138 keal/m’
R RVEE A H= 211 |kcal/m® R % 200 kcal/m’
Y ASE 190 |kcal/m’ w180 [kealm®
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Fif 1] (min)
SIS RE
g = e 324 £ B9 st 18] g 7= g T £ EE
1 BR 0.748 8243. 353 20942. 824 0.9119
2 FA 0.832 227029. 156 1848633. 125 93. 0886
3 ZE AR 2.657 11700. 581 114040. 250 4,7471
4 6. 082 993. 467 31511. 400 0. 0000
5 Ak 10. 715 1172.765 44771. 898 1. 2524
M 249139. 321 2059899. 498 100. 000
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& ST R
Aff: 2025.6.4 4. B20250604163031
Hoyr IR HREE (%) HorBR HFEE (%)
s5/|He 0.000 22T #5| Trans-2-C,Hy 0.000
A 42| CH, 93.089 JiFi2 T 45| Cis-2-C,H 0.000
Z2.95|CoHy 0.000 1,3T —45|1,3-C4Hs 0.000
74| CoH 0.000 5 i 4| i-CsHy 0.000
7t/ CsHs 1.252 TF % 4z n-CsHy, 0.000
7| CsHs 0.000 — & k| CO 0.000
& T z[i-CiHyg 0.000 — %4 CO, 4.747
IF T 4z|n-CiHyo 0.000 4|02 0.000
iE 5 T 4| 1-CaHs 0.000 N 0.912
3+100.000
4% (0°C, 101.kPa)
A= 38.445 |MJ/m® BRpE#4=]36.50
fE = 34.589 |MJ/m’ M8 =0.6174
B AVE A A B= 48.926 |MJ/m’ = 0.798 [kg/m®
IEAE 4 = 44.019 MJ/m’ TS HHCO,= 11.10
B20YHBIRREE A K= ASBIE R =
S E (15°C, 101.kPa)
B = 36.3683 |MJ/m’ MR H4=(36.50
I M= 32.7667 |MJ/m® HX 3 BE=0.6172
BRI %= 46.28 [MJ/m’ B = 0.798 |kg/m’
TE S = 41.70 |MJ/m’ FHESHNCO,= 11.10
520Y LB ARG % H $i= AATIBIE R =
0°C, 101kPa 15°C, 101.kPa
B 161 |kcal/m’ Eadal 153 keal/m®
I Hfli= 145 [kcal/m’ EHE| 138 keal/m’
RO AE 4 3= 205 |keal/m’ EAvEsEn gl 194 keal/m’
TE S AL B = 185 |keal/m’ fEsees] 175 |keal/m’
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